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Lp? 102 10+ 107 10°
H¥ (Hz) L =Ic+1g

E E ‘rﬂuTﬁ'E

B P10.77 B P10.81

I; = 10/0° A (4 in)

B P10.83

EFNE

. ps=116.9W,p, =136.6 W,p_ = - 19.69 W
3.(a)~8 Wi(h) — 554 mW;:(c)422 mW
5. pg=-23.51 W,p, =4.307 W,p, =32.12 W,p_= - 1291 W
7 Pl =93.20W, Py ., =245 1 W, Py, = 161.5 W, P, =176.8 W
9. Pu=P s=0,Py=312.5W,Pgy=62.50 W.Py = ~-375.0 W
1. (@) Ry + j05 (D)2, =Ziy = Ry ~ X3 ()Zy = R, = Koys (AR, =+ Rog + (Kpy + X, )
()R, = Ry + Xoy = |2, |
13. R, =16.13Q,P, =119.4 W
15.(a)28.8 - ;38.4 (;(b)250 W
17. 8.94 (1,38.6 W
19.(a)1.667 A,5 A,5.093 A;(b)4]1.67 A2,66.67 A>.32 A
21.(a)12.59 V ms;(b)12.25 V ms;{(c)10 V
23.(a)8.5;(b)12.42
25.(a)42.7:(b)25.0;(¢)7.32;(d)55.2: (e)80.2 W
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27.(a)30 Vi(b) V4, =34.64 V, V4. =34.16 V

29. 9,879 V

31.(a)655 W;{bL)320 W;(¢)335 W;(d)B00 VA;(e)320 VA ({)568 VA;(g)U.S% s

33.AP, = 1.229 kVA,AP, =773 VA, AP, = 865 VA, AP, =865 VA, AP, =3.022 kVA

35.(a)0.872 )5 : (b)692 puF

37.79.48 uF

39, (a)70 kW; (h)81.36 kVA;(¢)0.860 4 #f 5

41. - 824 + j204,0 - ;765,588 + jO,0+ j471.235 + jO VA

43.(a)375 - j331 VA:(b)S00 — j441 VA;(c)567 - j500 VA

45.(a)15.62 A rms; (b) 0.919 3 /5 :(c)3.30+ 1.417 kVA

47 . {a)5.087 A ms; (b)1.219 kW; (c) —~ 1.219 kW; (d)1.219 kWA; (e) 1.219 kVAR;
(£}71.219 kVA

49.{a)8y =37.83 kVA,S,,, =483.3 kVA. S, =49.57/ - 90° kVA, S, = 77.34/ 90° kVA; (b)
Seuee =321.9/3.049  kVA: (c)F;(d)521.2 kW;(e)27.76 KVAR(FEA)

F12E

1. ¥, ==-93V,V,=-07V.V,=03V
3 (DV,[C,V, /6, V, /= 120°, V,/ ~ 180°, V,/ = 240°, V,/ = 300°; (b) V, /P, Vo / 60°,
V./120°,V,/ 180°, V., /2400, V, / 300°
5.(a)56.67/-11.53° V;(b)}212.2/57° V
7.(a)22.8,0 A;(b)34.4,22.8,12 A
9.(a)91.5 uF; (b)6.68 kVA
11.(a)1.042 kW;(b)81.29/143.9° V
13.(a)1.182 0;(h)282/20.77° V;(c)450.3/172.6° V(d)15.82 - j6.000 kVA
15. 6.803/-96.14° A ms
17.(a)2.97/16.99° A;(b)52.8 W;(c)1.991 kW; (d)0.956 #H]
19.(a)0.894 /5 ; (h)22.2 uF;(c) + 541 VAR
21.(a)346.4/ - 30° Vi (b)48 - j24 O; () 11.18/86.57° A rms
23.(a}5.447 A ms; (b)3.162 A ms; (0)236.8 V ms
25.(a)40.15/45° A rms; (b)60.47/= 170.1° A rms; {c)36.00/ = 30° A ms
27.(a)242/30° Vi(b)24.0/-0.964 ° A;(c)41.6/-31.0° A
29.(a)33.9/45.2° A; (b)53.0/= 157.0° A;(c)25.2/ = 7.64° A; {d)6.10 + j3.34 kVA
31.(a)1.493 kW, ANTARME; (b)2. 153 kW, A7 (0)615.8 W, FE &5
33. - 23.37 WL 48 58 S ERE)
35. A:861.9 W, B.861.9 W, (:861.9 W
37 . (a) WA P12.37(a) (b) WA P12.37(b)
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L.(a)l M4, 2H3;(b)3 M 1,2F4: ()1 F 3,2 H 4
3.{a) - 10.40 Wi (b) Py =5.63, Pyp =4.77 Wi ()X 0; (d)0
5.(a)V,,=145.5/-166.0° V,Z, = 105.9+ ;76.5 Q; (b)25.0 W
7.306/(F +0.01)* A
9.(a)100=(6+56)1; - 2L, ~ 6L, — 251, + (4+58)L, —del, =0, 61, — 4L, + (11 +6s)L =0 (b) -5 A
1. (a)Z, (jor) =0.02(1 000 - »® + 150w )}/(10 + ju ) ; (b) BLIEA P13.11;(e)3/22.62° O
13.(a)27.34 cos(10z + 69.44°) V;(b)23.64 cos{ 101 +66.04°) V; (e} P, =9.601 W; P, =5.760 W
15. 1.260/ - 60.2° A
17. 2. 16K 1k - 1.82k* +1.188) W
19.(2)0.842 W;(b)0.262 W:(c)1.104 W
21.(a)1.661/41.6° (b)0.392/-79.7°: (¢)2.22/ 0.051°
23. ¥, = — 12 000xk/[ - 360m + j{25 -1 1527 + 1 1522 %%) 7, W.A P13.23

25.(a) 1 H; (b}600 mH; (¢)875 mH; (d)750 mH
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0 200 400 600 %00 1000 0!

G 01 02 03 04 05 0.5 07 08 0.

WA (radfs) 0.3 0 U: 06 07 0.8 09 1
B P13, 11 B P13.23

27T WAMER T, ()4 mH; (b)444 pH; (c)XFILER S 1.33 mH, HARIEM 210.5 pH

29, Z(jw) = j10w/(2.055+ jw) O

31.(a)24.98 + j0.624 6 Q:(b);24.39 Q;(c) - ;j25.46 ()

33.(a)20 +j31.42 Q;(b)20.21 + j33.97 05 (c)20.69 + j39.70 Q;(d)20.85 + j41.64 )

35, 191.4 W,73.2 W,61.0 W,549 W

37.(a)8 W;(b)2.082 W(f M) ;(c)5 kW(IEREE)

39. a=5,b=0.8%4 4

41. ~9.231 V

43. 4.819 V

45, LK P13.45

47. (a) M, BAHDEMEZ —R. (b)SO % ()RiF 19.95 £n, HEXATERHB T
% (a) LI R ARBGE KA

9. NFERITAFTEE L —BER . AR ARE YRS BECEYRER . &
B—T=ZHYYRBEES B85 HRNEELESET 1.92(3% . %%

490 ,
MA—s 1'225_‘1 1.732:]
e j% %4:{1 L%é %m
[

¥ P13.45

14K

1.(a)05(b)s, = j9s" 8, = —j9s " ;(c)s= -85 !;(d)s, =1 000+;1000s',8 =1000-
jL000s ";(e)s, = +js"',s = -js!
3. (a)8.06e " cos(15t - 60.3°) A:;{b)8.06¢ *cos(152 —60.3°) A;{c) -4.13 A;(d) ~4.13 A

5.(a)29.52/-129.8° V;(b)36.06e¢ " cos{ 501 - 56. 13°)V;(c) — 18.91 V;{(d) -2+j50s7";
(e)-2-;50s"
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7.(a)353.6/— 105° mA; (b)353.6e “cos( 10t — 105°) A
9.(a)185.1/-47.6°V;(b)185.1¢ *cos(4t - 47.6°) V
11, K/s

13.{a}5/s:(b)3/(s+ 8): (c)0; (d) K/s
15.{a)5/s-58 "¢ ¥ V;(b)5/s~58 e ™ A

8 LT I _8_ o -Ms-2 7, F_‘S‘;q o~ Hae2)
[7.(a}s+2[l—e ],(b)s_ [1-e ],([)5+2{I e 1

19.(a)e ul(e);(b)8(e); ()ame): (d)2758 (1) ;{e) ult)

21.(a)0.046 55 + jO.111 7:(b) —0.176 9 + j0.204 8;(0)({1.424+j6.458) x 107°

23.(a)s ' (e ® = e )i (bMs e ¥ (c)4{s+3) te * % (d)de 2*;(e)2.939

25.(:31]'5']'{&'_"--e'3");(1_‘1)25‘»_113_4\’;(f:)3n'(s+2)''lns."dls"ﬂ;((21)343_5"';(43)-—nﬁhrsr”'l

27. 2.5 mA

29.(a)8(t) + u{t) +2e "ult);(b)8(t —2) +28(r - 1) + 8{t)s(e)2e 7 8(1 =~ 1);
(d)d(e-1)+8(t-5)

31.(a)5e ult);(b)(Se * =2 “Jul(e);(e)6le = e ™ u(t);(d)6(de ™ - e Iult):
(e)188(¢t) +6(e " —16e *ult)

33.(a)(2-3e" " Jult);(b)28(s) +4e P ult); ()38t -0.8);(d)3[e ™ - e Juls);{e)
L3te ™™ —0.75¢ ™ +0.75¢ ™ 1uls)

35.(a)0 () +0.667[1 - e Ju(e);(b)}f(2) = 10.25+0.5: - 0.25[ cos 2¢ +sin 2£ ]} 1 2)

37.01.875-5.542¢ " (1)

39.(a)50 VA1 50 V;(b)0.1v,” +0.30, = 2; (c 5”“;? 5(20+130e ) u(e) V
4]. 71%,(4~2e015‘)u(£)
43.[6e* = 1]ulr)

45.(a) - 600 mA; (b)40 = 100i, +50J'; i di + 100;: (c)600e ™ u(t) mA

47. (a)— Q,1 F,= H;(b){75¢ " —12.5¢ 7" =62 .5¢ “u(¢} ¥

’3
2s—-4

49. 4u(¢)+sc+10j_ icdi+4[i; -0.58(0)] =0, 274

51.(a)5, A58 ; (b)O, INBAGE; (o)1, AT
53.(a)5;(b)f(07 ) =0, flo ) = S(HFR OK); () A0 ) =0, f{ ) = 3( LB )
55.(a)f(0°) =8, f(%)=0;(b)w, ~0.5; ()8, AFE: (d)0.0

B15%

1. W P15t

0.48(¢) - 1.6e *ule)

3 (E)M‘I‘l} 000s + 200 000
' s + 700s + 100 000

() LOREZE 8. (1) AR B8

;(b) - 10,95 02;(c)4.709 + j6.585 (}; (d)mg]; § S;
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E20 ko2 g ¥(s)
120 k£t g ¥is) 3s mil 12/5 ma

32s mf}

(a) {b)

B P15.1

5.(a) {168 + 50s + 4 000)/(s" + 80s) Q; (b)0.158 4 — j4.67 0; (¢)6.85/ - 114.3° O
{d) 909 m); ()1 O
T.(r . ReR' , C, s+ r Ry )/ rﬂRBR'LC;,C,:SZ + [ng’LrERHCH + (C# + C )r Ry +(r. + Rg)
R, Js+r,+R;} ,H R ,=R; | R,
9. 4.545¢ * A
11.(a}I, = (34.645 - 130.72)/[(8 + 45 + 104) (S + 125 +40) ]; (b) - 91.5¢ ¥ cos 10t +
341.5¢ *sin 102 + 91.5¢ %cos 2t — 1 525¢ *sin 2¢ mA,t >0
13.10.627¢ % —0.791e """ c0s(0.336¢ + 80.8°) 1u{) A
15.(a)2008 (& + 95 + 12)/(2s" + 178" + 908 + 1855 + 250); (b)[ — 24.9¢ "B ¢os 1.85¢ —
82.6e '"“'sin 1.85: + 125¢ Y cos 4t + 137e Fsin 4t Ju () V
17.33F 150,i,(t) = ~30.8 coe 2t +270 sin 2t A,i,(1) =6.6x 107°8(1) — 0.842¢ 12
cos 742.31 +0.20e ™ sin 742.31 - 30.8 cos 2¢ + 270 sin 2¢ A
19.p(e) = -4.67x107%e "% cos 742.3¢ - 1.622¢ "% 6in 742.31 + 4.24 cos 2t +4.24 x
107 %sin 2¢ *W. 2 >0
21 . (a)H(3/s) A LIRS HFRE PRI, | QBEASR 1 OB, QBRSO
HIBH , (107%s) Q PHETEFIR 1| mH H1R, (500/s) Q BHHIEHE 2 mF B2 (b) Vg = 3 000
(0.5 +2 5003/ [s(s" +5 0008 +5x 10’} ]V, Zry; = 1 000(0.58 +2 500)/ (& + 5 000s + 5 ¥
10°)0:(e)[2.5-2.5¢72™" cagh 2 1361 — 2.516€ 2™ inh 2 1362 ju{e) A

23.0,(£)={3.50+3.80x 1073 - 0610 ~0.862¢ "™ ~2.65¢ "™ Ju(s), v, (1) =[3.50 -

1.37x 1077 e % 4 0.309¢ "™ —2.65¢ " ]y (1)
25.(a)ly(s) =443 8(58 - 3)/[ (8 + 1.67x 10°S" + 1.23 x 10°s + 4. 18 x 107 )s],Z, (s) =4.7

x10)(8 +1.67x 108 +1.23x 100s + 4. 18 x 107)/(& + 1.67 x 108 + 1.23 x 10Ps +
2.08 % 107); (5)200.5uA

27.(a)65 s/(13x 107’8 + 835 + 13 x 107s + 83 x 10°); (b) — 0.764 de " 5x0 () 4
0.774c0s(10° ¢t ~ 8.907°) () A; ()0.77cos( 107 — 8.907) u( 1) A

29 ()FRMT -25F - 12.5, AWM T OM-16.7, (b)BEMT -9.09 H1 - 10°, 8} &
% F -1.55% 10° #1 -3.23

31.(a)5(s+ 1){(s+4)/[6(s+1.5)] Qs (bR A: - 1.5, + o0 ; B -1, -4
33. 5. P15.33
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vil) g

| 1 ! ['% | 1 T
1.5 2 25 3 -3 -1 -l 0

£(s) t{s)

M P15.33 B P15.35

37. (15[ — e > |75 15[ u(e) — ule ~2)IVi(b)I5[1-e 2 /e, 15[ tu(e) - (£ =2)u(t -
DIVi(e)IS[1~2e ™ + e [s7215[em(e) =20t - 2pult -2y + (1 —4)ult ~4) J(d) 15
S +9)—e P HE +9)),5sin 3tu{t) -5 sin (3t - ult -2)V

39.(a) % P15.39a; (b) WE P15.394;(¢) IHI __, =4.729

1.4 5
{2 4.5
4
1.0
3.5
08
3
|H) IH|
0.6 2.5
0.4 :
1.5
0.2 |
0% 5 6 0.5
a
(a) (b)
B P15.39

A (DFRNT s= -25H -3, BENT s = +£,4:(b)4.69,10; (¢)15.15 cm; (d) LIH
P15.41

43.(2)H(s) = (105’ + 308' — 10s - 30)/(s* + 68 + 13); (b)H(0) = - 2.308, H( % ) = o ;(c)1{:
2.236/ 116 €°, - 1:2.236/ 63.43°, - 3:3.606/ 33.69°, —3- j2:5/53.13°, -3+ j2:3/0°

45.(a) -2, - 1 ijz;(h)lm(2+ﬁu)3[(5 — @) 2w ]y (c)lﬂﬁ,\/ 3 @’ +24 s (d) WL
w ~ 6w +25

P15.45;{e) 2.016 rad/s

47 . (a) - 5e¢ “A(FTH 1)i(b)[ ~5¢ % + ¢ (S cos 4¢ + 3 sin 4e) |lu(t)A
49.(a) - 1729 1 - 24157 ;(1)10-0.886e '™ =2 11e ®VA. 150
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4.69 |

: 4,69
I U-{pr:,] SR 'S E— - c (rad/s)
325 0 —4 0 4
¥ p15.41
2
T

0O 065 1 L5 2 25 3 35 4 45 5
M (rad/s)

¥ P15.45

51.(a)2.5/(s8" +6.755 +2.5);(b){ 1~ 1.066e "™ +0.0659¢ 5% Jut )V
53.(a)H(s) = -5s/(s+ 10°):(b) - (s+10°)3/(58):(¢c) - (105 + 10 )/ (s +10°)
55.(a)0 F,400 Q; (b)5 nF,200 k2; ()50 nF,2 kQ: (d)0 F, 20 k3 1 0.5 nF, 20 MO
57. R=1k},C=159nF, R, =1 k(}, R, = 2.2 k()

59. R=1k),C=362nF, R, =1k, R, = 2.2 k).

F16E

WEV(V)

! [ | | | 400 LI RAL B B AL S N AL L T -||rl||1I
350
. 300|-

0 I e
1000 1200 1400 1600 1800 2000 T e

108 107 108 10? 10%¢
df
B (rad’s) P (r2dls)
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. (1)65.37;(b)221.3 He; (c) W P16.1
3. IWE P16.3:(b)w, = 1.294 x 10 rad/s, ¢}, = 366

5.7.52,397 (2,44 mH ,15.75 F

7. {a)ewy = 1 000 rad/s, Oy = 1 000; (b) WL P16.7

9.{a)0.998 H,10 kQ; (h)9.997 /1.432° kO

[1.{a)(1000-48.4%x 10 %0’ +j4.4 x 10" *w)/j4.4w;(b)45.5 krad/s, 10° 0
13.(a)12.30 £2,15.19 mH,5.42 mF
15.{a)443 F 357 Hz; (b) 497 #1 303 Uz

17.{a)10" rad/s;(b)15 /90° V;{c)8.32 /33.7° V

19.(a)1.562 / - 38.7° k25 (b)900Hz F[ 1 100 Hz
21.(a) WE P16.21;(b)204.9 / - 13.33° V

e 1T 717 I
10
9
; 3
7 -
b =
p ¥
4
3
2
| 100 —
ol—L 1 10 41y P I Y IR N SO SV G N
995 997 999 1001 1003 1005 9 94 9.8 0.2 106 11
W (rad/s) B (rad/s)
Al P16.7 & P16.21

23.{a)346.4 krad/s; (b)34.64

25.(2)636.6 nF,159.2 mH,500;(b)4.757 V,10.4.218 V

27. 10° rad/s,83.3,1 200 rad/s,8.33 k(2,4.29 /59.0°%Q

29. 10 krad/s F 208 m{)

31.(a)16.667 V;(b)16.673 V

33.(a)(s+ 10)4’[20(5+5)];(b)(5+Sﬂ)f’flﬂ(s+25}];(c')ﬂ‘]qﬂﬁﬁrl*ﬂ?_ﬁ’f‘?*ﬁﬂiﬁj@ L ,200
m{}, 50 mF,400 m(),0.5],

35.(a) L 1 pF,1.250 kQ,1.25 H,10°L, 5 (b)Zy, = - j5 k(2. V. = 0

37.(a) ~ 13.98 dB; (b)34.0 dB; (¢)6.45 dB;(d)75.9:(e)0.398; (f)1.00]

39 98B ;01326 dB,1 < w < 10: - 20 dB/dec. 10< w < 100:6 dB, @ > 100: — 20 dB/dec; #8
7:wg0.1:0°,0.1 < @ < I ~45%dec, l s 100: ~ 459,100 < o < | 000: — 45%/dec, w
>1 000: —90°

41 (a)w <2:90°,2 < w < 10: - 45°/dec, 105 @ < 100:58.5°, 100 < < 200 — 135°/dec, 200 <
w < 10002 - 90°/dec, 1000 < w < 10° ¢ - 135°dec, w3 10 ~ 180°; (b) {2 rad/s, 90°}, (10,
58.5°),(100, 58.5°), (200, 17.9°), (10°, - 45°), (10*, - 180°); (c)2:85.1°,10: 67.4°,
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100:39.2°,200:35.2°,10" - — 49.6°,10%, - 163.3°
43.(a)25s/(108 + 255+ L 000) : (B :w = 1: — 32 dB, @ < 10:20 dB/dec, w > 10: — 20 dB/
dec, w = 10:0 dB{ 31 & AL ¥ 67 . B P16.43;(¢) ~ 15.68 dB, - 80.5°

Hyp
f ! .
ang Hijw)
)
a0

(1 5 EWI {0 50 21 10(H)
—— | J I I | L.t >
]

_{J(!'-"‘ |

(a) (b)

" P16.43

45.{a) - 0.01s/{1 +0.18) ; {H)w < 10: + 20 dB/dec, w = 10: = 20 dB,w > 10;: ~ 20 dB/dec;
(el < 1:270°, =g 100 — 90P/dec, e > 100: HP
47, - T (Y FEM ) 2 TFiz ARk 5 ¥ 1IE P16.47

L0 £}

+
I AN—— - 1000
v 79.58 nF L 1000 »

E— - | +
s J;>¢o
79.58% nF

—ANN—
i00 1

IUOII% -ET 100 {1 I

100 (2

& Pi6.47

49 135 2 3 AU 28 iy i BEL BT DL 22088 TR, SR P16.49 BRAEAT I AL e BRER BB T
51.- PATREA AR LA Pl6.51

15.9oF | k(}

FLE ! I} + 4
ol 1 n O
>‘_qr—-—D Yot w l N Tout
1 k2 33.05 nF
e Il
= 100 kf} = 10 kD

] kui 1 k)

B P16.49 A P16.51
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53. 8 16.37 25 T —MEEFRY I " pE R SR A0 Fh et (B HTEsG S A R B E B2 fH B
ERABR - FREHEBNME, FRHAREHEMNHE R=10,L=1/120r H,C
= 1/120n F, A EAXHEA] 60 Hz & S B4 E B a0 i

BI7HE

1.(a)B851 W;(b)873 W;(c)701 W
3.2.210
5.(a}6.71 0;(b)6.71 O
7. - R,
9. 141.8 Fl - 76.6mS
0.4 -0.04
1. ] S)
0.4 -0.03
13.(a)32, - 320 1 50 Q; (b)60 O
15. Exp3:4 A, -8 A;Exp4: -8.33V, -22.2 ViExp 5: - 358.3V, - 55.6 V;
I 0.2 -0.3 ](5}
-0.4 0.15
17.9.90 O
19.(a)55.6;(b) ~9.62;(c)534:(d)3.46 Q;(e)34.6 O
[3 -2

21. (a) )M P17.21(a); (b) W P17.21(b), [ y].. 3

| (ims)

-4m8

—8 mS
AN 0 o ' NA—e G
+
5V, 5.5mS 7 m$S v, -0V, ¢ [1 mS 14 mS v,
: _ N | _
{a)

(b)

P P17.21

7.55 1.132
3.[ ] o)
~4.53 11.32
25.(a) - 2;(b)4;(c)8;(d)1 Q;(e)1.333 02
1331/ —47.6° 94.2/-2.64°
(8 e it 1000
9420/86.8° 565/ - 3.60°
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